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Gellis, A.C., Pavich, M.J., Bierman, P., Ellwein, A., Aby, S., Clapp, E.  (2002).  “Modern sediment yield compared to geologic rates of sediment generation in a semi-arid basin, New Mexico-Quantifying the human impact’.  

My biggest criticism of this paper has to do with data.  Although I do not necessarily disagree with what the data shows and the conclusions you made with this data, I have no idea how to quantify the values you use.  Where do these data lie in other studies conducted for sediment yield?  What are the ranges that other researchers have reported.  For example, you report runoff volume in (g).  Is this grams or gallons (I’m assuming grams)?  Where are these numbers on Table 1, I didn’t see anything with ppm on it or a concentration value (kg/L) etc.  So when you normalized the sediment concentration (ppm) did you also take into consideration the density of the runoff you sampled?  This may make a large difference.  I also didn’t agree with the large assumptions you made regarding vegetation and sediment yield.  How did you estimate the average vegetative cover to be 12 or 38%, visual observation?  How can you relate this directly to sediment yield.  Is there a linear relationship between 12-38%?

Other issues are marked by number:

1. How does this study provide a model to contrast impact with sediment production?

2. The words within the parentheses need to be fixed somehow.

3. I really liked how you did this figure.

4. Could you add just a touch of a sentence to help me understand how you got your mass by measuring density?

5. Did you mean divided by 1X 106?  To get from g to kg you need to divide.

6. This figure (F6) doesn’t do much for me.  I’d like to be able to compare the sediment yield for each of the methods for each type of placement.  If it is not possible to do sample for geologic rates on the mesa, you should address that in the paper.  A difference between 1 and 3 kg/m2/yr is quite substantial (alluvial valley floor).  You didn’t address this in the paper-is it?

7. Should you have a question in the middle of a paragraph that isn’t answered directly after?

8. Is it more possible that the high sediment yields were do to the combination of pipeline installation AND grazing?  It may be that by disturbing the soil for installation the grazing has an greater effect.  

9. I think that the result of being able to see a disturbance is important, but it can be better presented through the data and discussion.

The results and methods for this study are interesting and applicable in geological, engineering, and agricultural settings.  The data needs to be clarified so that distinct points can be made regarding sediment yield.  With these changes I’d recommend publication.

